Vertical angles can be thought of as opposite angles. Their
rays. Vertical angles are the nonadjacent angles formed when two lines intersect.

Line AB and line CD intersect.

Angle 1 and angle 3 are vertical angles.
Angle 2 and angle 4 are vertical angles.

vertical angle pair will be-the same. - - e o = =
Adjacent angles are supplementary.

Z1 + £2 =180°

Z3 + Z4 = 180°
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Use vertical angles to determine the missing measures. Name the vertical angle pairs.
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Vertical angles are congruent. The angle measure for each
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mZXAY = / ZZ o mZPQN =
% g o 1 ( A o
mALXAT = ~ Q % mZJQp=__\0 £
Vertical pairs: Vertical pairs:
< 7"5-% F}"T and <2 A%l . and

AXAY _ad <ZAT < JOM . L NOP
\ gL~ 1% A

- \"Sv—,"~° ) 7%
Jos* S

mZIKL =

M 00 - s ;;M mLFSM = __ 9°

Vertical pairs: Vertical pairs:

<KL _and _ <MKO KO nd < OSM

4 Ukj andr_( L_KM < FSM and <JQ§U
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Name

Use your understanding of complementary, supplementary,
measures.

L. =
/10 and £ 11 are complementary angles. - 1C

o
* If m£10 = 32°, then mZ11 = 58

and linear angles to find the missing

y <11=490 Ael of cComp

32 + <\ =A0°

o
) lj‘ mr,éjO = 63°, then mZLH—= a rl

L3+ <\ =q0°

= Vér j% ? L;
) If mZ10 = 11°, then mZ11 = [

N+ <\\ =90

el

/14 and Z15 are supplementary angles. ¥

‘ If mZ14 = 68°, then m£15 = \ ] lo

|
s
5

¢85 =\§0 oef ok

L + <15 =\80°

If mZ14 = 111°, then m£15 = Lo 4 NEEA =|&0°
© . 3
' I1f mZ14 = 87°, then m£L15 = qS 1+ <-\6--v\8/0
)M 4 <P =\§D \ieoc DOUSLS e Supr .
ZM and ZP are linear angles. =~ L B | OL ‘ -~ X
oo ® ) F>:
) i mZAM = 67°, then m£LP = \\6 Lo'\ + < \ \%D
D If mAM = 132°, then mZ£LP = v %. 132 +<P = |8O°
f) I1f mLM = 44°, then m£LP = | 3o o +<P=\§D

/5 and £6 are complementary angles. £6 and £7
All are nonadjacent. <5 +<lp=q0°

clef s & comp: .
If mZ5 = 34°, then m£6 = Bl
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are supplementary angles.

<o +271 =150 ckafof supp!:

and mZ7 = ¥ Ef

1D 1f m£6 =50°, then m£5 = : }() cand mZ7 = ]30

e 1 | 7 ° L7 '
1 mZ7 = 132°, then mZ£6 = L4 , and mZ5 = 12
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Congruence of Angles and Addition Properties

X ! Angle Medasures
Page 10, ko =L,
Show 360ma.h'\3+ Juﬁﬁct,] AA Y MIWAV =180~ 120 = 60
CongAruence ) Angle Addition
mM«SAR = 35, m£ZRAQ = 35 MZVAT + m£TAS = m£VAS
Find the values of each of the following. LSAR = ZRAQ 18 + 32 = 50
g . 1, msCEB=__|0° 3, msBEG =__| 35°
87 ¢(Dn D
s | /N ,,
3T . 6 MLBEC + msCEF =10 + (35442) =81
\O
<1180 o5 7. mZHEG + mCED = _H5+35 =80
; o0+ 35= q3-45

0 msGED + mzDEC = 12.6° 1. mZHEF -m/HEG = __ 48"
13. mZHEG + mZCEF — mzBEC = 4 6 + (42 +35\ -0 =112*
15. Name @ pair of congruent angles. < HE G = 4 DF‘PE)

17 mz_J|k\+M= < 3T L

19.Jm2K = 28 &/mLIK'= 39; ML =

20 ;. S l 3

20, LML = 81 &(mLMIL &\mALlJl (29

D

<ML +< L 1'\)

,& + <), 1% &
- =12 e
Find x. .
21 mKIL = 2 nZUM = x} [mZKIM = 4x—a17 x=_ 17
n
LM = <LKIM dibv ufb’\'
Ax 4 x  =Hx-=N L
3x = 4x-11 mgmu) “(”p
-4xX -4x WO
—lx '—-l-\
22. XmLJIK_ximAKIL 3xl+ S\leJIL 5><—Ta X = 20
SIK 4 LK =< J|L-  onoke addchoo
X4 3X+S =By-|5 '
Ux+bH= Sx -6 “—S oI

U x

5—:—)(’; 6\/\(/\‘

e +15



Classifying Angles

In the figure, m47 = 90°

:;v;s;?&‘ev(— “"\\g g~

ue\ £Scncl<ls, 4 ‘4’0!\01‘4§ )

( < 36“\(1 f
2. Name five pairs of supplementary angles.” < Lond<y , £ Jend< @\ —
%, A~ A Ax::;‘ 5 A

3. 47 and 29 form a .__\lﬂﬂlC:PQ-LC—-

+10 and £11 are complemenfqry angles. Snow geometiy +Suskify

4 ms10=3mell = B8 <10+« =90 aef of comp\ .
' 33+ =90

i =iz
5 /11272 me10=_10 [<n= Sf_'a\

<\t +<1D=qo" def of comypl.

e
<t=1%"
6. MmLI0=4x; MLl =26 X = S~ <1ot+<«\1=80 Aef of compl.
4X +3x =90
Gx= Olo

| X=
213 and 214 are complementary angles, ond Showd Ge oy + ,
/14 and 215 are supplementary angles. J¢ *“j Sudh%

1. m213 =47 meld=_ 43" me1s= 1377
@ <13 +<|4= 00 Oef ofcompl. € ) <l4+<;1g= (@,o def of Quepl .

[<i9=43 =43 4,;;",‘3‘7.

12 mz14=78me13=_12" :mz15=_|02

D <12 +4H=90 def af comp!. @ 4 +LS=150  def of swppl.
<13 +719 =90 1€ +<15= 1§D

€13 =12\ [<15= o2 |

13, m415_135° ms13 = /' |
@) 30 ol ofSuppl. @ <3+<d=10 “W
; < ! 39 1‘3 ' “: = C }v()
<13 =45"
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